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QUESTION 1

An administrator is preparing a Windows 7 virtual machine for View and is reviewing Windows services as part of the
optimization process.

Which Windows service must the administrator ensure is started?
A. Windows Firewall

B. Disk Defragmenter

C. Windows Defender

D. Routing and Remote Access

Correct Answer: A

QUESTION 2

An administrator needs to increase the number of desktop resources in a dedicated assignment manual pool. This pool
is made of unmanaged virtual machines.

What should the administrator do?

A. Create additional virtual machines and add them to the pool as desktop sources.
B. Edit the pool settings to increase the minimum number of desktops.

C. Change the vCenter Server settings in the pool to Provision on demand.

D. Increase the number of available replica virtual machines in View Composer.

Correct Answer: A

QUESTION 3

Users at a branch office are experiencing poor virtual desktop performance. The branch office has ten users and a
2Mbps link to the datacenter.

Some of the users frequently access video content, but the performance issues began occurring after a recent Group
Policy Object (GPO) change. The performance issues do not occur when the same users connect from the main office,
which has a 10Mbps link to the data center.

Which PColP GPO change is most likely the cause of the performance issues?

A. Turn off Build-to-Lossless = Enabled

B. PColP session audio bandwidth limit = 100kbps

C. PColP client image cache size = 260MB
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D. Maximum PColP session bandwidth = 4Mbps

Correct Answer: D

QUESTION 4

A desktop environment is configured to provision on demand. Users report that login is taking longer than expected
when they sign in. The administrator determines that significant 1/0 is being generated each morning when users are

logging in.

What should the administrator do to resolve the issue?

A. Deploy a replica View Composer server to load balance provisioning operations.
B. Increase the minimum number of desktops in the pool.

C. Edit the pool settings so that desktops refresh on logoff.

D. Enable SE Sparse disk to reduce initial provisioning time.

Correct Answer: B

QUESTION 5

A Cloud Pod Architecture environment has datacenters in New York and Los Angeles. Users have a Global Home Site
configured for the datacenter geographically closest to their home office. When users travel, they connect to the VPN for
the datacenter closest to their current geographic location.

When users log into Horizon to access their desktops, which statement is correct regarding the desktop they will
connect to?

A. Users will always be connected to a desktop in their Global Home Site. If no desktops are available in that site, users
will receive a message stating no desktop resources are available.

B. Users will be connected to an entitled desktop in the site for the VPN they selected, if one is available.

C. Users will be connected to a desktop in the site configured for the security group of which they are a member. If no
desktops are available in that site, one will be provided from their Global Home Site.

D. Users will be connected to a desktop in their Global Home Site. If none are available, users will be connected to a
desktop in the other site.

Correct Answer: D

QUESTION 6
An administrator is configuring Kiosk mode in View. The administrator completes the following tasks:
Verifies that clients on the Windows machines that are being used can connect with a normal username and password.

Creates accounts with appropriate Active Directory attributes for the machines that will operate as
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kiosks.

When the clients are tested, they do not automatically log in after connecting to the Connection Server.
What is causing this issue?

A. The Kiosk mode user account was not added to the Connection Server to which the client is connecting.
B. The Connection Server to which the client is connecting has not been enabled for Kiosk mode clients.
C. The Kiosk mode user account was created in the wrong Organizational Unit.

D. The View Client machine has not been enabled for Kiosk mode using the client registry settings.

Correct Answer: B

QUESTION 7

An administrator has asked the help desk to reset a virtual desktop in newly created Desktop Pool B. The help desk
user logs in to the View Administrator, but only the previously existing Desktop Pool A is available.

What is causing this issue?

A. Help desk user accounts can only be assigned to a single pool at a time.

B. The help desk user\\'s account does not have the appropriate permissions in vCenter Server.
C. The help desk user cannot see Desktop Pool B because provisioning is disabled on the pool.
D. The help desk user\\'s account has only been granted privileges to see Desktop Pool A.

Correct Answer: D

QUESTION 8

Which two commands will allow export and import of the Minimal Restore Set? (Choose two.)
A. addMinimalSet C:\minimalset.xml

B. exportMinimalSet C:\minimalset.xml

C. getMinimalSet C:\minimalset.xml

D. removeMinimalSet C:\minimalset.xml

Correct Answer: AC

QUESTION 9

An administrator finds that some desktop pools fail to report metrics back to vCenter Operations Manager
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for Horizon, while other desktops are reporting metrics as expected.

Which condition could cause this behavior?

A. The vCenter Operations Manager for Horizon server is not paired with a View Connection server.
B. The vCenter Operations Manager for Horizon adapter is running version 1.0.1.

C. HKLM\SOFTWARE\VMware, Inc.\vCenter Operations Manager\Client is disabled.

D. The vCenter Operations Manager agent is disabled in the virtual desktops.

Correct Answer: D

QUESTION 10

An administrator is granted access to a vCenter Server with a custom Active Directory user account. The user account
should have the required permissions for full management of the View environment. However, when the administrator
attempts to enable View Storage Accelerator, permission is denied.

Which View privilege within vCenter Server needs to be configured?

A. Storage Views > View

B. Global > Act as vCenter Server

C. Host.Configuration > Advanced settings

D. Virtual Machine.Configuration > Modify device settings

Correct Answer: B

QUESTION 11
What must the administrator do next to fulfill the stated requirements?

An administrator has built a Centralized Virtual Desktop (CVD) using the Mirage default CVD policy, but finds that the D.
drive on all users\\' machines are not centralized correctly.

Which changes should the administrator make to include the additional volume?
A. Create a new Upload policy that includes the D. drive in backup and restore.
B. Add a Protected Volume in the Upload policy.

C. Modify the CVD to include all system drives.

D. Add %ANYVOLUME% to the User Area of the Upload policy.

Correct Answer: B
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QUESTION 12

An administrator needs to create 1000 virtual machines with minimal shared disk space. Additionally, the administrator
needs to be able to update the images while ensuring that the users\\' information is managed in a central location.
Which VMware components should be used to meet the requirements?

A. VMware Horizon View with Persona Management

B. VMware Horizon View with vSphere Data Protection

C. VMware Workspace with vSphere Data Protection

D. VMware Workspace with Persona Management

Correct Answer: A

QUESTION 13

An administrator needs to prevent specific application-related setting files from being overwritten during a base layer
update.

What should the administrator do?

A. Use Base Layer Override Policy to exclude application configuration files if they exist.

B. Use Upload Policy to exclude application configuration files in the User Area section of the policy.
C. Use Base Layer rules to exclude files from being deployed to workstations.

D. Use Upload Policy to exclude application configuration files in the Unprotected Area of the policy.

Correct Answer: A

QUESTION 14

An administrator is creating a new Automated Linked-Clone desktop pool. The administrator has also created a new
parent virtual machine and has installed the View Agent.

Which additional step must be taken before the desktop is prepared for use in a Linked-Clone pool?
A. Restart the virtual machine and clone to template.

B. Power off the virtual machine and take a snapshot.

C. Enable provisioning in View Administrator.

D. Enable provisioning in View Composer.

Correct Answer: B

QUESTION 15
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After creating an Upload policy for a group of users, an administrator has found a significant increase in storage usage
by Mirage. After further investigation, the administrator finds that the increase is a result of users storing personal MP3
libraries on the system.

What should the administrator do to prevent these files from being protected while allowing the users to store the files
on the system?

A. Add a Rule to the User Area for MP3 files in the Upload policy.

B. Create a Collection labeled Exclude MP3s.

C. Add a Rule Exception to the Unprotected Area for MP3 files in the Upload policy.
D. Add a Rule to the Unprotected Area for MP3 files in the Upload policy.

Correct Answer: A
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